J Math Model Algor
DOI 10.1007/510852-006-9039-U

An Optimization Model to Determine Master Designs
and Runs for Advertisement Printing

§. R. Mohan - S. K. Neogy - A. Seth -
N. K. Garg - 5. Mittal

Abstract In this paper we consider a common optimization problem faced by a
printing company while designing masters for advertisement material. A printing
company may reccive from various customers, advertisements for their products and
services and their demand is for a specified number of copies to be printed. In a
particular case, the printet receives these orders to be delivered next week from
the customers, until the Thursday of a weck. By Monday the printed copies have
to be delivered to the customers. These advertisement items of the various customers
are to be printed on large sheets of papers of specified standard sizes. The size is
called a k-up if k items can be printed on one sheet. [t is a given constraint that
only items of the same size can be loaded on a master. This constraint results in a
decomposition of the original problem of designing masters into many sub-problems,
one for each size. The objective is to minimize the number of masters required
while meeting the requirements of the customers. We formulate this optimization
problem mathematically, discuss the computational issues and present some heuristic

approaches for solving the problem.

Key words advertisement printing - heuristic approach - G-MIM heuristic -
(+-RBA heuristic - adjacent vertex heuristic.

1. Introduction to Advertisement Printing Problem

A printing company has orders for printing advertisement items of various typcs.
Depending on the sizes (which are standardized in the industry) the item types arc
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described as 4-up, 6-up, 12-up etc. A 4-up item is of a standard size such that four of
these items can be loaded on a single sheet. Similarly, a 6-up type is such that six items
can be accommodated on a single sheet. It is also a practice in the industry that items
of different types are not designed to be loaded on a single sheet. So, a master can
have only items of the same type designed on a single sheet. But the items of the same
type can be different advertisements either from the same customer or from different
customers. The problem is to design the masters and run them a number of times in
an optimal manner so that the demand made by various customers for specified items
to be produced for the next week is met. The design and the production runs should
satisfy the following constraints:

. A master has to be run at least 5,000 times and not more than 30,000 times.
2. A master can carry only items of the same type.

The criteria for optimization are basically two. The design and number of produc-
tion runs should be such that only the minimal number of master sheets is used to
meet all of the demand. This is to ensure that the setup cost is minimum. The other
objective is the minimization of total wastage. Suppose we need to design and run
the masters for N items of advertisement with demand for the j'* item as d;, | =
1,2,..., V. Suppose we have a solution that actually produces my, #y, ..., My of the

items 1,2, ..., N. For the solution to be feasible, we have m; — d; = 0. The excess
i

production for the j™ item is 5; = m; — d;. We want that ZS ; is also minimized.
j=1

Thus the problem is a multiobjective minimization problem, with the two objectives

of minimizing the number of masters used and also minimizing the total wastage.

1.1. A Simplification

The fact that only one type can be loaded on a master sheet, decomposes the original
problem encompassing all the types of demand into a number of problems, one for
each type. Thus by solving the problem associated with the demand for items of each
type separately and then by putting together these solutions we can obtain a solution
for the whole problem. In fact further decomposition results from the consideration
of quality of paper. So a master can be prepared only with items of the same type and
quality of paper. The larger problem thercfore decomposes into solving one problem
for cach type and quality. The two objectives of the problem we stated, namely
minimizing the number of masters used and also minimizing the wastage, however
can be conflicting. To see this we consider the following two simple examples.

Example 1.1. Consider k = 4-up size and a specified quality ol paper to be used.
[et there be four items with demands d, = 30500, d; = 31200, dy = 31600, and
dy = 31800. [f we consider a solution in four masters, allotting item 1 to all the four
slots in the first master, allotting item 2 to all the four slots in the second master and
so on, we need to run the first master 7,625 times, the second master 7,800 times,
the third master 7,900 times and the fourth master 7,950 times. Then the demand for
cach ol the item will be met exactly, the wastage will be 0, but the number of masters
will be 4. This solution is feasible and optimal for the wastage. However, if we con-
sider a solution with one master in which cach slot is allotted to a distinct item and run
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first item, 600 for the second item, 200 for the third item and no waslage [or the [ourth
item. The total wastage produced is 2,100, a mere 1.7%. The management will clearly
prefer this solution, as it uses only one master, even though it is not optimal [or the
wastage. Note that both the solutions meet all the other constraints and hence are
feasible.

Example 1.2. Consider now three items requiring the same quality of paper with size
k =4, whose demands are o = 7287, db = 20891 and o5 = 50722. We can consider
the following solution that uses one master in which one slot is assigned to item 1,
one slot is assigned to item 2 and two slots are assigned to item 3. This master is
run 25,361 times to meet the demand on item 3 exactly, but producing a wastage of
18,074 on item 1 and 4,470 on item 2. The total wastage is 22,544, 28.6% of the total.
MNow let us consider another solution thatl uses lwo masters. On masler 1, one slot s
allotted to each of items 1 and 2, and two slots are allotted to item 3, but this master
is run only 8,940 times, producing a wastage of 1,653 on item 1, and not mecting the
demands [or the other items [ully. Then a second master is used in which no slot is
allotted to item 1, one slot is allotted to item 2 and three slots are allotted to item 3.
This master is run 11,951 times, to meel the demand on item 2 exactly, but producing
a wastage of 3,011 on item 3. The total wastage is therefore 4,664, 5.91% of the total.
The management will clearly prefer the sccond solution although it uses two masters,
as the [irst solution gives a high wastage.

Thus we sce that the two objectives we have formulated can be conflicting. The
management is not willing to give an estimate of the wastage cost or setup cost.
However it is required that the number of masters must be as few as possible (which
is an objective of higher priority) and at the same time the wastage is as little as
possible. The management will be satisfied to examine a few solutions with minimum
wastage, which do notl use too many maslers, and then choose one of them.

This paper is organized as follows. In Section 2, a mathematical formulation of
the problem is presented. In Section 3, an enumeration scheme bascd on branch
and bound ideas is presented. A number of heuristics are proposed in Section 4.
We also provide a sufficicnt condition under which the problem has an optimal
solution. Finally in Section 5, as a further refinement of the solution a limited local
search algorithm is proposed.

2, The Mathematical Model

In view of the above decomposition, we now formulate the problem of printer
optimization for the same type (i.e., size) of items of advertisement that use the same
quality of paper. Let there be L items of the same size and quality of paper. Also
let dy, ds, ..., d;, denote the number demanded of these items. The design of loading
items on a master sheet can be specilied with the help of a pattern vector. A pattern
vector pis a column vector of length L., whose coordinates are x;, x, ..., x; salisfying
the following conditions.

L
x; =0, Zx; = k, Xx; integer
=1
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Note that x; denotes the number of slots allotted to item j on the master sheet with
the allocation given by the pattern vector p. We can identify a master shect having a
specified allotment of slots to items with a pattern vector. Thus the four master sheets
in the first solution of Example 1.1 can be identified with the patlern vectors,

p1=1[4.0,0,0", p2=1[0,4,0,0]1, p3=1[0,0,4,0] and py = [0,0,0,4].

The master in the second solution can be identified with the pattern vector ps =
[1,1,1,1). Similarly the master in the first solution of the problem in Example 1.2
can be identified with the pattern vector py = [1, 1, 2]', and the other master in this
example can be identified with the pattern vector p; = [0, 1, 2J. Given L and k the
[ollowing formula gives the total number of feasible pallern vectors, or the number
(le L ;’,{Ik 1\ . See [3, p. 36]).

So we can number the allocation pattern vectors as, 1,2, ..., M, denoting them as
Pi, P2, .. Pa where py; will denote the § th coordinate of p;.

We then have the following mathematical formulation of the printer optimization
problem for a specific size k-up and the same quality of paper on which L adver-
tisements have to be printed, the j*™ advertisement d; times. Here ny, nz, .. -, Mg AL
decision variables and yy, v, ..., vy are indicator variables.

The optimization model for advertisement printing may be stated as follows.

of possible master designs: M =

M
Objective 1: Minimize X ¥
i=]

I
Objective 2: Minimize ) _s;

j=1

M

Subjectto Y “mpy —s; =dj, j=1,2,.... I, 7213
i=1

A 0 | S e R M (2.2)

yiln; = 5000) =0, i =1,2,..., M (2.3)

il —yi=01i=12,..., M (2.4)

y=00rl, i=12,.. M (2.5}

el B S s Mintegerands; =0, j=1.2,..., L (2.6)

M
In the above mathematical model, Z y; will give the number of masters correspond-
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il the i"" master is run, il is run for at least 5,000 times. The constraint #; = 30000
ensures that a master is not used for more than 50,000 times. The first objective
(Objective 1) is very important. The second objective is also important, as we would
like to ensure the total wastage does not exceed 8 or 10% of the total production. We
nole that the problem has two objective functions, 2M + L variables, M of them 0, 1,
M + L of them integer, L linear equality constraints, M linear inequality constraints,
and 2 M nonlinear constraints. For moderate values of ., M is large. Hence this is a
difficult combinatorial optimization problem.

2.1. Some Simplifications to the Model

Mote that the above is a mixed integer nonlinear programming problem if we treat
#;'s as nonnegative real variables. Note that the equations that determine the s;'s
ensure that they have actually integer values given that the data d;’s, p;;'s and
the decision variables n;’s, are integers. Thus there is no need to explicitly impose
the constraints that the s;'s, are also integers. This means that we can solve the
problem as mixed integer programming problem. The non-linearity is due (o the sets
of constraints (2.3) and (2.4). Now the manufacturer’s view is that (2.3) is a serious
constraint. The sct (2.4) of constraints can be taken care of while implementing the
algorithm ensuring that only if a y is fixed as 1, the corresponding #; will have a
positive value.

3. The Computational Strategy

With the simplifications made in the previous paragraph, we see that the problem
can be solved as a mixed integer linear programming problem. The slack variables
5;'s, are the real variables and the 0-1 variables are the y;'s,. Of course we have two
objectives, but this can be taken care of as follows.

We develop an enumeration scheme based on branch and bound ideas, but begin
with the least number of y’s, that have to be at level 1 for a feasible solution to
the problem. This number and such a set with the least cardinality can be easily
determined. Then in the course of the algorithm when a new y; is increased to level 1,
we examine if this can replace a already positive y;; if not then the cardinality of the
set of y's, increase by 1. We develop a branch and bound algorithm similar to the
implicit enumeration algorithm of Balas [1]. See also [2, 4] and [5].

Suppose at node v;, w; denotes the set of fixed variables, with w | = {i | y; = 1)
and cardinality of w ;I as r. Let F; denote the set of free variables. The upper bound
on objective 2, z(v;) is the optimal value of the linear programming problem that
results from the set of fixed variables w; that corresponds to this node. This node can
be fathomed it the following conditions hold.

We examine each of the possible successor nodes obtained by replacing a variable
[rom w}' by another frec variable and calculate the upper bound for each of these
successor nodes. Il none of the upper bounds of these successor nodes exceed z(v;)
and if z(v;) is low, (within the limit preset for the second objective) we [athom this
node. Otherwise we branch to that successor node that has the least upper bound.
These steps are then repeated as in any branch and bound method. If none of the
nodes corresponding to subsets of cardinality » and live, then we branch to a node



I Math Model Algor

corresponding to a set of cardinality » + 1, in case the presct limit on the second
objective is not met using the usual branching rule.

As we noted earlier, the above computational strategy is a modification of Balas’
implicit enumeration algorithm. It looks for a solution to the mixed intcger linear
programming problem that has the least value for the first objective and among
the solutions with this least value, one that minimizes or meets the requirement on
the sccond objective and is [easible. However the number ol successor nodes to be
considered from an initial node of a given number of fixed variables can be very large.
Turther if we require an exact optimal solution, for the second objective (instcad of
meeling a preset limit) for a fixed value of the first objective, the enumeration tree
may furn out to contain a very large number of nodes. So one need to look for other
heuristic algorithms. This is developed in the next section.

4. Heuristic Algorithm for the Advertisement Printing Optimization Problem

In this section we propose three heuristics namely, G-MIM, GRBA and AVB to solve
the printing optimization problem.

4.1. G-MIM Heuristics (Greedy Heuristics by Maximum Number of Ttems
per Master)

In this heuristic, we obtain an initial solution by using the principle of allotting as

many item as possible in each master minimizing instances of duplications. We note

that if there are L items for the Game type of paper and size k-up, then the minimum

number of masters required is [ 1. We can’t make fewer than these many masters.

We should try to obtain a solution with just [%‘] masters and look for improvement if

the wastape has to be reduced further. The steps of the heuristic are given below.
Steps of the Heuristic:

Step1l  Arrange the L items in the increasing order of demand and renumber the
ilems accordingly.

Step2  Consider the first & items from the rearranged list for allotment to the
first master using the pattern vector [1, 1, 1, ..., 1]°. Determine the set of
serial numbers m, | =< m < &k, so that when the master is run o, times, the
unsatisfied demand for item m + 1 is more than 10,000 (or 5,000 as specilied
by the producer).

Step3 For each serial number m obtained in Step 2, calculate the percentage
wastage for the master, assuming that the master is run d,, times. Choose
the d,, that corresponds to the minimum percentage wastage. Decide to run
the first master d,, fimes,

Step4 Obtain a reduced problem eliminating items whose demand has been met by
the first master and by considering the remaining demand for ilems whosc
demand has been partially met.

Step5  Repeat Step 1. If the number of items is less than k&, then allol more slots for
items whose demand is high in the decreasing order of the demand. Repeatl
q1tv.=:p+ 'i untll the demand tm 1II the |tam'a are met. (dlulhte tln, mcua]l
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numbers obtained in Step 2 of that reduced problem and repeat. Calculate
the percentage wastage. If all the serial numbers obtained in Step 2 have
becn considered, then terminate the heuristic with the present solution as
the initial solution.

Improved G-MIM: We apply the above procedure to items arranged in the decreasing
order of demand and take the best resul ting solution

4.2. G-RBA (Greedy Ratio Based Allotment) Heuristics

In this heuristics we allot slots to items on the basis of ratios. The steps of this
heuristics are as follows:
Steps of the heuristic:

Step I Start with the item with the least demand and a list arranged in the increasing
order of demand.

Step2 Consider the first item in the list. This is the item with the minimum demand.
Allot one slot to it in the current master,

Step 3 As long as the ratio of demands 'f,—;" remains less than 1.25, consider allotting
one slot to item m on the first master. If the ratio is two times or more but less
than 2.50 then allot two slots to jtem m. Similarly if the ratio is three times
or more but less than 3.50 then allot three slots to it. If the ratio is more than
1.25, but less than 2 or more than 2.5, but less than 3, then do not allot it (o
the current master,

Step4  Continue allotments in the current master until all the & slots are filled. If
there are r free slots in the master and we have an item [or which we have to
allot g slots (r < g), then allot on the first master r slots to this item with a
reduced demand of [r (d/g)] and leave the remaining demand for this item
to be allotted to the next master.

Step 5 The current master is to be run n times where n = max{i ‘:- i € (;} where
C; denotes the set of items whose demand s complelely taken care of by
the current master; i.c. items for which the determined number of slots are
available in the current master.

Step 6 Repeat Steps 1-5, for the remaining items and items for which there is
positive unsatisfied demand,

Step 7 Repeat Steps 1-6 until all the demands are satisfied, (In case we are unable
to make allotments to some of the items, then we relax the parameters such
as 1.25, 2.50 and so on.)

We apply each heuristic and choose one that Is better as a starting solution.

4.3. The Adjacent Vertex Based Heuristics

The adjacent vertex based quick optimization method consists of two routines.
Rouline one, called the Steepest Descent (SD) routine starts with a solution in the
minimum number of masters and seeks to minimize wastage. Routine 2, called the
Flattest Ascent (FA) assumes a solution in which the wastage is small and proceeds
to construct a solution in which the wastage may be a little higher, but the number of
masters is reduced.

This is based on the following easily proved result.
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THEQREM 4.1. Suppose we consider a l-up problem with L items. Suppose
I.= Nk (an exact multiple of k). Then for the problem of minimizing the wastage
it the minimum number of masters, the following is an optimal solution.

Arrange the items in the increasing order of demand Allot the first k items in this
list to master 1. Allot the items with serial numbers (m— 1k + Lo mik to master m, for
m=1,2,..., N. Run master nt, d .y times, form=1, F IR 1

Proof. It is clear that the minimum number of masters required in this problem is
N. We have to verify that if we are allowed to use only N masters, then the solution
specified above is the best. It is easy to note that each master has to have k distinct
items and has to be run as many times as the maximum of the demands of the items
allotted to a master. If the items are not consecutive on master then the wastage
will go up on such masters and the total wastage will also be more. It follows from
here that the solution specified above is an optimal one, in case We are allowed to use
only the minimum number, namely, O

In case L= Nk+r where 0 <r < ke, clearly the minimum number of masters
required is N+ 1, bul can we obtain an optimal solution in this case? IL is clear
that we have to allol more than one slot in one or MOrc masters to some items, 80
that all the slots in all the N + 1 masters aré used. Heuristically it appears that the
best candidates for allotment of more than one slot will be the items towards the
end of the list. We may allot all these ‘tems in the last master, namely master N+ L.
If r is k — 1, then this will yield minimum wastage. In general allotting more slots to
the last few items so that the maximum-minimum (i.c.; the range of quantity allotted
per slot) is the least possible, should pive minimum wastage for (N + 1) masters.

Routine 1 (SDY):.

Steps of the Adjacent Vertex based Routine SD:

Step1 We begin with an optimal solution in the minimum number of masters.

Step2 If the optimal wastage for the minimum number of masters is satisfactory,
we may stop here. Else we proceed to Step 3.

Step 3 Work out the inverse of the basis matrix B consisting of the allocation vec-
tors (columns) of the chosen masters and the columns —I; corresponding
to items j that have a positive wastage. Let y = B~'dbethe solution vector.

Step4 Construct the row vector ¢ by taking its j*" coordinate to be 1 if the j*
column of B is a column of the negative of identity matrix and 0 otherwisc.
Calculate the weight vector (row vector) w by taking w = 51z,

Step 5 First we check that the current basis is oplimal for the given st of masters.
Eor this we should have w; = B e et 0y for a coordinate J
corresponding to a column of B that is an allocation vector. [f this condition
is satisfied, then go to Step 6. Otherwise, for j such that —1[; is not a
column of B and w; has the least value that is less than —1, calculate
g = min{_—{;:{TJ_ =B s Ol s L}. Let this minimum be attained
for t = v. Column v of B is replaced by column —1;. Go to Step 9 with
r=vand p=-1;.

L
Step 6 We need to find the set of all allocation veclors p for which Z w; X; 18

=1
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L
to finding a set of 2L allocations vectors for which Zwﬂ x; is as high as

i=]
possible, the maximum, the next maximum and s0 on, We can proceed as
follows:

Let §={/j] w; =0, w; maximum}. We can allocate all the L slots among
L

the items pin 5. This will actually maximize Z wiXi. Letwy, = w;, ... > w;
=1
denote the positive coordinates of w arrang:fd in the decreasing order. We
allocate slots to the items iy, iy, ..., [, and generate about 2/, allocation
vectors in a systematic manner. Let 8 denote the set of vectors generated
in this manner. Go to Step 7.
Step 7 For each vector pin 8, compute B! p and calculate the minimum ratio

"

; ¥i -1 : o .
i (B 111 | (s S (87" p); is positive). Go to Ste 1A,
Pl {{B_ i | Pljis| } I

Step 8 Choose pin S5, such that p(#) is maximum. Suppose that the minimum ratio
for this p is attained tor J=r.Goto Step 9.

Step 9 Replace column r of B by p and update the inverse and the solution, If
this step has been reached from Step 5, then go to Step 4. Otherwise go to
Step 10.

Step 10 If further reduction in the Wwastage is desired go to Step 4. Else terminate. Oy

terminate if the number of masters i more than or equal to the number of
masters already obtained by the other heuristics with satisfactory wastage.

Routine 2 (FA):

Suppose we have a solution in + | masters (may be more than what we believe is
required) but with a small Wastage. Suppose we wanl to see if the number of masters
can be reduced at the cost of a little more of wastage. We can then apply the following
routine. This may be one of the solutions obtained by some other heuristics or by
applying Routine 1 of the LP based heuristics. Typically the number of masters m + |
is small compared to the number of products L.

Step 1 We have the basis matrix B ot order L corresponding to the given solution,
Compute the inverse matrix B! Let y denote the solution vector B-'d. Go
to Step 2.

Step2  Let the weight vector w be calculated as in step 4 of the routine SD. Let §

be the set of indices ¢ such that —w, — 1is negative. Let ¢(8) = ttﬁn{f?}’j}— |

—1y.
o
(B~"); = 0). This minimum is likely to be attained for a variable of type n,.
Choose v in S such that v(0) is the minimum among all the ¢(8) = 0, for ¢ in
§. Let this minimum be attained for some v and row j(v). Then —1 replaces
column j{v) of B. Go to Step 3.

Step 3 Update the inverse and the solution. Il the starting solution in (1)
masters, of this routine has been obtained by the routine SD from a solution
in m masters and the solution in step 2 is the samc as this solution, then it
proves the local optimality of the m master solution in step 2. We can make
no local improvements and we terminate the solution. If the solution in step
2 is still a solution in (m + 1) masters, then we 20 back to Step 2.
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As an example consider a four up problem with six items and the demand of the
six items in the increasing arder are 20,900, 21,000, 23 700, 25,600, 31,800, 32,300, S0,
the demand vector d = [20900, 21000, 23700, 25600, 31800, 323001,

We start with the initial solution given by the increasing order of items.

Master 1 20,900, 21,000, 23,700, 25,600; run 25,600 times.
Master 2 allot two slots each Lo items 5 and 6 and run the master 16,150 times.

The wastage for the initial solution is given by: 5, = 4700, 52 = 4600, 53 = 1900,
5 =0, 55 =500, 56 = 0 : the percentage wastage is: 7.53%.
We starl the adjacent vertex 5D routine with the initial basis matrix, say

[Pl 0 0 1 o o
R g a4 0
o g asl 6
AeSlh g o el 00
n o 0o 0o -1 2
g 0o 0 ¢ @ 2]

The first three columns of A, correspond to sy, 52 and s3, column four is master
1 allocation, column 3 corresponds to ss and column 6 is master 2 allocation vector.
The inverse of A; is given by

[ ~1 0 0 1 0 0

0 -1 - 0 0

0 0o -1 1 0 0

B=t gy B ] 0 0
0 o a4 0 -1 1

[ & @ » 0 4 0

Note that B;d gives the solution vector. The wastage corresponding to this 15
about 7%

The next step of the routine SD is to calculate the row vector ¢, which is given
by: ¢ = (1,1, 1,0, 1,0 1 for the surplus (wastage variables in the basis, and 0 for
master allocation vectors in the basis matrix A, in the order in which thesc columns
appear in Aj. The next siep s to calculate w = ¢ 3. This row vector is obtained as:
YRR P P e R P

We next try to generate as many solutions as possible to:

L
z WiXj = Q, X; = 00, integer (4.1)
j=I
L
3k =k (4.2)
=1

We can generate as many solutions lo the above as possible. The algorithm

suggests that we generate 2 L (This can be modified).
We note that the maximum coordinate in w is coordinate 4, which is 3, the next

macimum is at coordipate &, which is 1. The other coordigalcs are — 1 We should

bt X WRLDANEE eileal skl T SRliLLed wak
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We generated the following solutions.
H=10,0,0,4,0,01; Bty =d =[4,4,44,0,0],
Min ratio: min (5;);/(di); | {(di) ] = 0.

We present these solutions in the following table:

Generated allocation Bit=d Minimum ratio

vector ¢ (col. vector) {col. vector) (S)jfdj. lord; =0
t =[0.0,0.4,0,0] dy =[4,4,4,4,0,0] 1900/4
f = [0.0,0,2,0,2 d=10222221] 500,/2
t3 =10,0,0,3,0,1] dy =1[3,3,3,3,1,0.5] J0041
4 =1[0,0,0,1,0,3] dy =[1,1,1,1,3,1.5] 500/3
t5 =1[1,0,0,1,0,2] ds=100,1,1,1,2, 1] s00/2
I =[0,1,1,1,0,1] dg =[1,0,0,1,1,0.5] 500/1
n=100,0021,1] dr =12,2,2,2,0,05] 19002
g =1[1,0.0,2,0,1] dg =[1,2,2,2,1,05] 500/1
t9 =[0,0,0,0,0,4] dy =[0,0,0,0,4,2| 500/4

tio=1[0,0,1,1,1,1] dyg = [1. 1,0, 1,0,0.5] 46001

We find that maximum of the minimum ratio occurs for the allocation vector
[0,0,1,1,1, I]". We note that when an allocation vector is introduced into the basis,
the minimum ratio gives actually the number of times the master with this allocation
vector will be run. So none of the allocation vectors listed above (including #,y) can be
actually considered [or use, as they are considered infeasible. However the allocation
veclor fyp is worth trying as the minimum ratio for this is 4600. We can check how
much improvement is obtained by using this allocation vector. If even when this is
run 5000 times instead of 4600 times (which may increase the wastage) if Lthe resulting
wastage is not much, the solution would be worth considering.

In the course of solving this problem, we can learn certain rules for the gencration
of good allocation vectors that satisfy (4.1) and (4.2). We need to set x5 and x;
corresponding to ss and 53 where the surplus is not much to 1. On the other hand,
a coordinate [or which the corresponding surplus is high should be set equal to 0.
Sox; =x; =0, x3=2x3 = x5 = x5 = L. (Such a vector must be a candidate vector.
However as there is no proof that in general this will be a good allocation vector, we
need try out others also).

So the basis matrix now becomes A, wherc

=f B 8 0 W g

R O v R 0 0

R R g 0

A= o 0 1 0
p 1 @ @ =i 2

0 1 0 0 2 |
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and its inverse is given by

[l 1 1] 0 1] 07

) 0 | 0 0

0 ) S | I 0 0

B2=1 & | D @ .o B
0 0 0 0 =af |

| 0 05 0 -05 0 05|

The solution vector corresponding to this is given by [100, 4600, 1900, 21000,
500, 13850]°, which means that the wastage is 100 + 1,900 + 500 = 2,500; the third
master is run 4,600 times, the first master is run 21,000 times and the second master
15 run 13,5850 times. The wastage is 1.6%. If we run the first master another 400 times
the waslage increases to 2,500 + 1,600 = 4,100. The wastage is 2.64%.

S0 one can choose between three masters and wastape of 2.64% or two masters
and 7.53% wastage.

The 5D routine can be terminated at this point as we have a reasonable solution.
But can we get a solution in two masters which is better than the two master
solution we have? To answer this we need Lo apply the FA routine Lo the present
solution. We note that now the row vectorey =[—1,0, =1, 0= 1,0 and ¢2 B3 = w3 =
[—1,1,—1,1,—1, 1]. The missing surplus variables are s5;, 5; and 5;. Now w(—1I;) —
1 = —2 which is also equal to w{—14) = w(—1Ig). So if we introduce any of these
variables the wastage will increase. Now we check that B;(—1I;) takes us back to the
two master solution we started with, as the minimum ratio with this column eliminates
the third master introduced. B,(—1Is) has only negative entries and hence in this
context not acceptable. That leaves Bz(—[4) and this makes only the last entry of the
solution vector eligible for the minimum ratio test. This ratio is 13,850/0.5 = 27,50
This is the wastage s4 that would be produced if the second master is climinated
from the basis by the entering s,4. In addition there would be increased wastage [or
s3. This is also clearly unacceptable solution. So Routine FA shows that there is no
solution other than the initial solution that is adjacent to the three master solution we
obtained. In the neighborhood therefore there is no better two master solution, than
the initial solution. With this conclusion we terminate the SD and FA routings.

A. Further Refinement

As an initial solution, we can use each of the above heuristics with different values
for the parameters and generate a set of good initial solutions, From among these we
may choose the best one. If we use routines SD and FA, one after the other, then
the final solution obtained will be locally optimal. To further optimize we supgest
the following limited local search algorithm. We maintain a list of allocation vectors
generated in the earlier steps or over the previous occasions for this product and
pattern of demand. Suppose this list is T. Lel m denole the number of masters in
which we are interested in getting a solution. Let § be the cardinality of T. We

then consider all possible combinations of 8 choose m and try out the solutions by
i’ 1 = -« 1 [ . -

e irieet alwanyy per T A B L R WL R L]

iy PR R L

P R e L

A .
(el EELTa Y
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Steps of the refinement:

Step 1 Make a candidate list T of allocation vectors. Let # be the number of such
candidate vectors. Go to Step 2.

Step 2 Suppose we have a solution in m masters from T and B is an optimal
basis corresponding to this solution. Calculate B~'. Let y = B~'d be the
corresponding solution vector. Let M denote the set ol the allocation
vectors { g, P2, ... Pl Go to Step 2.

Step 3 Choose any vector p from T not included in M. Go Lo Step 3.

Step4 Do the feasibility test on each sel M, = M\[p.} U {p}. This essentially
consists in checking if for each item j there is at least onc vector in M,
with | or more in coordinale . Go to Step 5.

Step 5 For cach feasible M,, replace p, from B by p. Update the inverse and the
solution. Calculate the corresponding wastage. Go to Step 6.

Step6 Repeat Steps 3-5 for each vector p from T, not included in M. Go to
Step 7.

Step 7 Choose the solution from among generated in Step 5, for which the wastage
is minimum.

Qutput A solution in m masters which has the least wastage among the verlices
adjacent Lo the starting solution, from the set 7.
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